
In vigore dal - Effective from    15-12-202198

RADIATORE 470 x 195
RADIATOR 470 x 195

R

S

B

A C

I

D
F

F

M

N

H

F

F

EL

L

L

P

O

L

L

L

E
K

K

K

K
E

E

J

J
Q

Q

E

E

D

D

D
D

D
G

Tav. 47

T

U
V

X

Z

AA

AB

AC

AD

AE
AF

AGAI
AG

AH

Y

W
P

AJ



Rif. Cod. 470 x 195 RADIATOR ￥

47 Description Tax  included
A 0093.TAB OTK ﾗｼﾞｴﾀｰKit 470X195 OTK radiator 470x195mm complete with supports 66,660
B 0093.TA1 OTK ﾗｼﾞｴﾀｰ 470x195 OTK radiator 470x195mm 57,970
C 0094.TAB ﾗｼﾞｴﾀｰｻﾎﾟｰﾄ (470x195mm) OTK radiator 470x195mm supports 0
D 0093.02 ｱﾝﾁﾊﾞｲﾌﾞﾚｰｼｮﾝﾗﾊﾞｰ Anti-vibration rubber 462
E 0093.04 ﾗｼﾞｴﾀｰﾗﾊﾞｰｶﾗｰ Bush for anti-vibration rubber 341
F 0093.T5 Boccola supporto radiatore Bush for radiator's support 0
G 0094.PAA ﾗｼﾞｴﾀｰｻﾎﾟｰﾄｽﾃｰ4穴 Support plate for radiator 4 holes 2,310
H 0094.RAA ﾗｼﾞｴﾀｰｻﾎﾟｰﾄ Radiator support 9,350
I 0094.R0-2 ﾗｼﾞｴﾀｰﾁｭｰﾌﾞｽﾍﾟｰｻｰ Radiator tube spacer 2,090
J 0033.00 ﾛｾﾞｯﾄﾜｯｼｬｰ M6/ALU Biconical AL washer Ø 6 mm 264
K D.M6A.B. ｾﾙﾌﾛｯｸﾅｯﾄM6 (ﾅｲﾛﾝ) A.B. nut M6 mm 22
L R.P.6X18 ﾜｯｼｬｰ D.6x18 Washer Ø 6x18x1 mm 11
M R.P.8X17 ﾜｯｼｬｰ D.8X17 Washer Ø 8x17 mm 22
N V.TCE8X65 TCEI screw 8x65 mm 143
O V.TE6X100 TE screw 6x100 mm 231
P V.TE6X105 TE screw 6x105 mm 286
Q V.TPSCEI6X25 ｻﾗﾎﾞﾙﾄ 6X25 TPSCEI screw 6x25 mm 44
R 0094.ZD Air choke kit 41,800
S 0082.B13 Spring for pad's pin 264
T 0094.Z3 Radiator buffer 55
U 0094.ZB3 Upper nylon pulley 1,540
V 0094.ZB4 AL Bush 451
W 0094.ZB5 Lower nylon pulley 1,540
X 0094.ZC1 Radiator curtain 7,370
Y 0094.ZC2 Curtain sliding plate 4,400
Z 0094.ZC6 Curtain sleeve 1,650

AA 0094.ZC7 AL Bar 1,540
AB 0094.ZD2C Air choke right support 8,030
AC 0094.ZD2D Air choke left support 8,030
AD 0094.ZD8 Sliding belt 3,960
AE D.M5 Nut M5 mm 11
AF D.M5A.B. A.B. nut M5 mm 22
AG R.P.5X11 Washer Ø 5x11x1 mm 11
AH V.TB5X10 TB screw 5x10 mm 66
AI V.TB5X25 TB screw 5x25 mm 110
AJ V.TE6X110 TE screw 6x110 mm 484


